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I 1x mwn: invalid "tethering™:
a pom
i interpretation #1: this is part of list, the implication being that %> would be valid, contra n™
1 challenge: 9 already stated this in 8”2
2 answer: P2 taught incidentally with rest of list
ii  Interpretation #2: (®127) — P9 N defines status of rest of items >needs no nYrw
1 Challenge: since last clause (about "you::mother") requires no8w >rw» needs none (rejected)
b  things that are inherently forbidden (following v. 1 — must be 77130 727 and not 7708 127)
i PN VA
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iii "staked pelts" (1"y naipn)
iv 190,05
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vi nmmaon
¢ If someone says to his wife "you::my mother" (1708 927), we find another avenue of permission, so he won't treat
11 leniently
i RprRM it is meaningless, but 132770 we are strict for the reason stated
ii  Alternatively: a n"n needs no nYRw at all, but an n"y does as per ruling of nmwn
II  Associated 8n»a - if someone tethers his np1aw to the nMn (associating with the M2t in it as the nw natN)
a  If he tethers it to the nn itself — meaningless
b If he tethers it to "what is written there" — valid
¢ If he tethers it to "it and what is written there" — also valid
i Challenge: why is (c) needed once (b) has been taught?
ii ~ Answerl: (a) and (b) refer to a case where the nin is in his hands, (c) to a case where the n1n is placed
somewhere in front of him (without referring to "it", could mean parchment)
iii Answer2: all cases where n"v is placed in front of him — (c) is more obvious than (b) 915 ")y %
iv Answer3: (b) is a case where it is in his hands, and saying "in it" is tantamount to saying "what it states’
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